05 01 31

¢ )
48,528 | 48,212 | o | 316| 0 0.65
R3 R7
0
0 0
6,58 - 4,322
6528 4322
355ha 54ha
355ha ha 54ha




R04 |R05 [R06 [RO7 [RO8

A08-001 n=1 | B B ] 1,574 {4.12
A08-002 L=1,000m [ B B B 346 (3.93
L] 1,920 |
A03-003 L= | | | | 111 (12.5
200
A03-004 L= [ B B B 400 [10.7
200 n=
n=1




R04 |R05 [R06 [RO7 [RO8

A08-005 n=1 LI B B 300 (52.8
| L] 00|
A03-006 n=1 " == 500 (1.2
A03-007 L= "= (m|m 486 7.4
250 n=1
A03-008 n=1 L BN B B 5,200 |10.9
A03-009 L=200m "= (m|m 250 (1.6

n=1




R04 |R05 [R06 [RO7 [RO8

N 6,43 |
A08-010 n=1 | | u | 150
A08-011 (L=300m) [ B B B 450 1.39
A08-012 (L=2 [ B B B 488 (27.3
500m) n=1
A08-013 (L=5 [ B B B 351 (10.38
40m)
A08-014 (L=540m) [ B B B 511 (7.28
n=1




R04 |R05 [R06 [RO7 [RO8

A03-015 n=1 [ I B 300 |11.5
| 1] ] 0|

A08-016 [ I B 330 (1.3
L=400m

A08-017 [ I B 510 |27.8

L 500m

A08-018 [ I B 862 |6.14
L 460m

A08-019 L 400m [ I B 550 |4.39




R04 |R05 [R06 [RO7 [RO8

A08-020 17 "= (m|m 6,115 (3.31
A08-021 L 780m [ I B 1,100 |1.29
A08-022 [ I B 2,700 (3.09
A08-023 [ I B 2,618 {1.39
A08-024 [ I B 7,301 (2.5
A08-025 [ I B 650 (1.18




R04 |R05 [R06 [RO7 [RO8

A08-026 [ N B R 5,195 |16.6
[T 1 [ [ =
A03-027 LI B B 812
A03-028 [ I B B 400
A03-029 [ N B R 3,000 (12.2

4,212|




R04 |R05 [R06 [RO7 [RO8

A08-030 e 3,508 [1.45
L=3,910m
A08-031 e 1,144]16.2
L=300m
[ L[] 4,652

48,212|




R04 |R05 [R06 [RO7 [RO8

C08-001 [ I 16
n=1

€08-002 n=1 [ I 300

[ L[] 316 |

316 |




RO4

@ 4,019

() 0

(c=a+h) 4,019
(©)) 0

) 281

® 3,738

@ 2,586

(h = c+d-e-F) 0
(i = (g+h)/(c+d)) 64.35
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